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a (1)

B/ (ETEHAESNESR )
chicken /rooster / hen / duck /
*accept any correct answer

(i)

Y, BABW=T 4L

Y, because sea lion gives birth
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(i)

HEIM®R

eating habit

—HEREEABERENEHK

A group of stars forming a recognisable pattern at night in the sky

b3 £ / Bic dipper

BEMBARINET

Indicate the arrival of beginning of planting or harvesting seasons

FHYE AR5 ZY
The sunlight is too bright

BITRAENRT /| HEAEERYNDE

Place of investigation // type of toxic waste

L7, TE/#, B

Increase and decrease

HANTFREFREERYHDIREM /| BREXHERE G T
WMERRBRYNFEFES

Because the awareness of toxic waste removal increasing // Because
strict implementation on wastage removal by the authority

NMEREANESRYEESE
NBFREANESEYRERS |/ ESHMLASHES
The year of 2011 has the least number of toxic waste // The year of
2013 has the most number of toxic waste // any suitable answers is
accepted

BRERNEZE  ABRYNTIREDERE |

AN BERYTHERSWMED 58

In my opinion, the toxic waste is remain in the environment because
the toxic waste cannot be decomposed by microorganism // because
the toxic waste is non biodegradable

a (i)
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Replace the old dry cell/s with new dry cell/s// use new dry cell

(i)

X %Eﬁ BB / Series circuit
¥ ;FREE@E / Parallel circuit

PASET

Light refraction

SR, BHE RAE
Telescope, Microscope, Magnifying glass

FEAT LTS
Light can be refracted

B E R KR RE
To ensure the depth of the pool

12 (i)

T T30F , ARFFIRE/ P D
HBEFFRE 2 [E ~——

Condition of house A after 30 years is not strong / less strength
compared to B

EZ---LERGIH/LEREE
Accept — more ugly / more dilapidated
THEE - LRET "

Reject — more beautiful kP

(i)

HAARERAEFHMBLBE FHNFRERRZ

Because the materials used to build house A has less Sstength

compared to B / vice versa

RHEGHZ ‘
The building height

7 BAFR/EERS
Bridge Durability years
P 10
Q 20
R 30

3.5




‘K’. .—i.

b | BEREEPHIQIAER HERE
R magnet has stronger//more strength repelling force than P and QO
*gccept any correct answers
c() | YHEER
Magnet ¥
(i) | REEkE A/ BEEREVFRES
Size // strength of magnet
(d)
Rk FRIBEE (cm)
-
Repelled distance
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| FEEk | magnet
a
b (i)
Wheel and axle
(i) | RE
Inclined plane
c HOE3E i/ S/ R
Put oil // grease
d | 2R/ EON ERF KRR
Construction site // harbour // pillar of flag // well
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